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1) If a, b, c > 0 such that abc = 1 then:
a* b* ct 3
b+ Ara’ at+ b2 ZE

Proposed by Kostas Geronikolas-Greece

Solution. Using Bergstrom inequality, we get:
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Equality holdsifand only ifa = b = ¢ = 1.
Remark: Inequality can be developed.
2) Ifa,b,c > 0suchthatabc =2 and 0 < 4 < 2 then:
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Proposed by Marin Chirciu-Romania

Solution. Using Bergstrom inequality, we get:
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= RHS,
2050 +25y7) _
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e 21+ 2)Yx% = (2 — )Y yz + 313 .x; (x), which follows from
Yx? > Yyz Yx? = Yxand xyz = 1.
Yx2=Yyz-> 2-D¥x*=2-1)Yyz(2),0<1<2

Yx? > Yyz, xyz = 1 which follows from:

1D e ©2A+1D)Qx2+2Yyz) = 3(A+ 2)Yyz + 33 x

Chebyshev's AM—=GM
I

S 2 ¥agx S 3fxyz(Tx) =1-Yx = Yx - 3A%x? > 3A%x; (3)
Summing relations (2), (3) it follows (x) is true and the problem is proved.
Equality holdsifand only ifa = b = ¢ = 1.
Note:
For A = 1 we get Problem 23/8/2020 proposed by Kostas Geronikolas.
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